O

S P —INESS

VERBINDUNGS- & MONTAGESYSTEME

Mounting set for photovoltaic modules on balconies

We offer two different sets for mounting on your balcony railings.
- One set for PV modules with a frame width of up to 1050 mm (art. no. 9785-3-Gelandermodulset).

Darstellung ohne Mustermodul

Uberlagerte Darstellung in 45° und 75° Konfiguration

*]
*2

Norm der Schrauben (Kopfform/ Anfrieb} kann abweichen
*
3

Mutter in DIN6923 (dargestellf) / DIN?85 / ISO10511 mdglich
Stitze abhéngig von gewinschter Winkelstellung montieren

Pos. | Menge Bennung Sachnummer / Norm / Kurzbezeichng | Groe / Bezug
1 2 Geldnderbigel 9524-2-Gelander#T
2 2 Modulprofil 2020.2298.1005 1050mm
3 2 Wandprofil 2020.2298.1006 400mm
4 2 Stitze 01 *3) 2020.2298.1007 670mm
5 2 StUtze 02 *3) 2020.2298.1007 507.5mm
6 1 Querlager Profil ProfinessT 1500mm
7 2 Querriegel 2020.2298.0008 aus Profiness18 iy e e e, Jore A e o T | F—
8 2 Sechskantschraube *1] DIN933 M10x70 cessscoescoamener | R - -
g 4 Sechskantmutter *2) DIN6923 MI10 Ak Bauteiliibersicht
0 10 Sechskantschraube *1) DIN933 M8x20 —T o T —
1 12 Sechskantmutter *2) DIN6923 M8 oo | o oozt . .
2 2 Sechskanischraube *1] DIN933 MI10x25 = Geldndersttnder V03
3 2 Schlossschraube DIN&03 M8x120 Modulrahmen 1050
4 4 Sechskantschraube *1) DIN 6921 Méx20 —
5 4 Sechskantmutter *2) DINé923 Mé e FCNGSIE. A3
6 1 EPDM 40x3x1200 selbstklebend 2020.2298.1004
7 2 Hutmutter DIN 1587 M8 CEwICHT: RASSSTAB: 15 Tecravone




S P —INESS

VERBINDUNGS- & MONTAGESYSTEME

- An XXL set for a frame width of up to 1150 mm.

(Art. no. 9785-3-Geldandermodulset-X)

Darstellung ohne Mustermodul

*1

Norm der Schrauben (Kopfform/ =
*2] Mutter in DIN6923 (dargestellt) / DIN985 / I1SO 10511 mé?\'\ch
I

Antrieb) kann abweichen

Uberlagerte Darstellung in 45° und 75° Konfiguration

*3) StUtze abhdngig von gewinschter Winkelstellung montieren
Pos.| Menge Bennung Sachnummer / Norm / Kurzbezeichng | Gro3e / Bezug
1 2 Gelanderbigel 2524-2-Gelander#T
2 2 Modulprofil 2020.2298.2005 T150mm
3 2 Wandprofil 2020.2298.2006 600mm
4 2 Stitze 01 *3) 2020.2298.2007 670mm
5 2 StUtze 02 *3) 2020.2298.2007 507,5mm
6 1 Querlager Profil ProfinessT 1500mm
7 2 Querriegel 2020.2298.2008 aus Profiness 18 [umaiee s e Toresnzcae e e rorE EIGHNUNG NCHT SKAUEREN | ArornG
8 2 Sechskantschraube *1) DIN933 M10x70 7 O i - -
9 4 Sechskantmutter *2) DIN6923 MI10 Bauteiliibersicht
10 10 Sechskantschraube *1)] DIN933 M8x20 —T T —
1 12 Sechskantmutter *2) DIN6923 M8 oo | oo oz . .
2 2 Sechskanlischraube *1) DIN933 MI10x25 [ Gelanderstander V04
3 2 Schlossschraube DIN&03 M8x120 joerenmiot Modulrahmen 1150
4 4 Sechskantschraube *1) DIN 6921 M6x20 WSHAEN
5 4 Sechskantmutter *2] DING923 Mé — NG A3
6 1 EPDM 40x3x1200 selbstklebend 2020.2298.2004
7 2 Hutmutter DIN 1587 Gewicr: ST 1 oo

The mounting angle of both sets can be adjusted to different angles of approx. 45° 54° | 62° or 75°.




S P —INESS

VERBINDUNGS- & MONTAGESYSTEME

Each set consists of the following components:

2 elevation profiles, each screwed together to form a triangle (each consisting of 1 module
profile as module holder with three elongated holes (2), 1 wall profile as vertical rail leading
to the railing (3) and 2 angle profiles (0.67 and 0.51 cm), of which you can choose one,
depending on the desired angle of elevation (4).

1 mounting rail (cross bearing approx. 1.50 m). Serves as a connecting rail for the lower
connection of the two elevation triangles and support on the vertical railing braces. (6).

2 pieces of railing brackets to hang on the handrail of the railing (up to approx. 70 mm width)

(1).

6 pieces hexagon head screw M8x20 + 6 pieces M8 locking nut for screwing the angle
profiles to the desired triangles (10).



S P —INESS

VERBINDUNGS- & MONTAGESYSTEME

4 pieces hexagon bolt M8x20 + 4 pieces M8 locking nut for screwing the railing brackets to
the vertical brace of the elevation triangles (10).

2 pieces hexagonal long screw M10x70 + 2 pieces M10 locking nut as lift-off protection or
for clamping the railing brackets to the railing (9+8).

4 pieces M6 hexagon bolt + 4 pieces M6 locking nut for screwing the module holders to the
module frame (inside, on the long frame side) (14+15).

2 pieces hexagon head screw M10x25 + 2 pieces M10 locking nut for connecting the
mounting rail (40x40 mm, horizontal) to the triangles (from behind) (9).

2 aluminium holders (Profiness18), with holes as a lower anti-lift device on the railing
(counter holder) (7).

2 pieces long threaded bolt M8x120 + 2 pieces hexagon nut M8 for connecting the mounting
rail/counter bracket (Profiness18), plus 2 pieces M8 cap nuts for securing the thread ends. If
necessary, the screw can be shortened, the cap nut covers the cut at the end (13).




<o P

—INESS

VERBINDUNGS- & MONTAGESYSTEME

e 1 piece of EPDM tape (120 cm, 40x3, loose) for taping the mounting rail, railing bracket and
aluminium counter bracket (Profiness18) at the points of abutment (16).

(/ /7‘_,,;-

v

Angle settings of the elevation triangles

In the following, we show the different adjustment options in the example of a triangle, depending
on the angle adjustment (45°|54°|62°|75°, each from the horizontal). Example drawing up to 1150

mm frame width.

928 max.

427 min.

73

1198 max

211,7 min

|

73

683




StUtze 01 - 670 mm

StUtze 02 - 507,5 mm

S P —INESS

VERBINDUNGS- & MONTAGESYSTEME

Please note the different lengths of the lower angle profile as a supporting element.

With the 0.67 cm long angle profile, you can achieve a set-up angle of 45° or approx. 54°, depending
on how the rail is attached and screwed on.

600

With the approx. 0.51 cm long angle profile, you can reach an installation angle of approx. 62° or 75°,
depending on how the rail is fixed and screwed on.

600




